BRAEE FHINESEFRIANVTETHE BERD K SRR

HEf . SFf44E5H21H (1)
UL BB VB —{ERER PE o — R
AR T EA D (6,144F—1)
I5n B 5 T4 e I N I TOTAL
1 AF K RISt ERESK 3E 34 39 73
2 N e HEHES 24 45 35 80
3 A X BiEE®R 24 40 41 81
4 hE & HHMELAEHESK| 38 41 41 82
5 FH X RANNE SR 3E 44 47 91
§) =8N RANNE SR 24 72 82 154
7 B 0 AR SR 34 R
ER S F{EDE
JIEASE FRR 4 TOTAL
1| BUERFHSE iR 245
B - DAl N ER
2 0 WG N —EAGE PE— A
(5,7147—F)
M . 2 = T4 L O 1 N | TOTAL
1 MK TR HE IR 3% 38 38 76
2 IRF — AEMERER | 2F 46 38 84
3 K 55 KAEK 3% 43 42 85
4 IR B |RSAcEEEk| & 47 41 88
5 Kl 2= RENE SR 24F 58 49 107
§) T# K3 REAESK 14 58 50 108
=R e FROE
JIEAST FR 4 TOTAL
1| RH IR 183




BTAEE RN EEFRIANTRTHE BERES T SRR
HEF T O
DY WG N —(EAE i — R
(5,9517—1)
B K A TR =2 OUT | 1 N | TOTAL
1 =l W3 [J\BHLBlUSE| 1§ 37 35 72
2 5@ 2 REBMMILTERABE| 15 43 39 82
3 HH & FASHEERFZE | 1F 46 42 88
4 BRA C2f |REmiI—_&HE| 25 52 40 92
5 AHEE |EHHILITHRSLZE| 15 50 54 104
6 B R MR 14 K
W2 DB
285 WG N — B PEa— R
(5,7147—1)
e = TR = e
1 B FIF M anfEE 3 35 40 75
2 FUNER #ETh | AEILETSIAELGRE| 34 37 41 78
3 JIis 534 FASHERFZE | 3F 40 40 80
4 AR BE | RRINEIZREEGR| 35 42 39 81
5 fERDE |BHIBLEDR| 25 41 41 82
6 ik ¥ |EREBHILAMGRE| 3F 46 41 87
7 IV BF] | REBBTMEBEREFZE| 24 45 44 89
8 [ich - =2 FHARAgEESy 34 49 41 90
9 FFH %= ESHERGFE | 1F 61 63 124




